. Multiply the polynomials. (v + 76)(v — 76)
. v? 4 4962

0% + 1400 — 4962

. 4902 — 162

. v? — 4962

. v? — 1400 + 4902

. Multiply the polynomials. (872 —5)(8r2 + 5)
. 64r* + 80r% — 25

. 6472 — 25

. 647 — 25

. 64r* — 8072 + 25

. 2574 — 64



. Multiply the polynomials. (3v — 8)(3v + 8a)

. 992 + 48y — 64a?

. 992 — 640
. 6472 — 902
. 9y — 64

. 972 — 48ya + 6402

. The polynomial expression (A — B)? is
. a sum of two squares

. a square of a sum

. a square of a difference

. a difference of two squares



. Multiply the polynomials. (2w — 5)(2w + 5)
- dw? + 20w — 25

Cdw? — 25

. 25w? — 4

L Adw — 25

- dw? — 20w + 25

. Expand the square. (58 — 7)?
. 494% — 25

. 2532 — 49

. 2582 — 708 + 49

. 258% — 708 — 49

. 2582 + 148 — 49



. Multiply the polynomials. (a+ 2)(a — 2)
ca? —da+4

a2 -1

. Multiply the polynomials. (282 + 3)(23° — 3)
4Bt 9

9Bt — 4

4B 49

482 11282 — 9

.48 — 1282 +9



